Functions Practice Quiz Name
Calculator Portion

s |
6x—2 —_—re 8x

X
2x+1 3x+5

1-3.Given: f(x)=

1. Determine therange for f{x). Write vour answer using bothdnterval.notation and set notation.
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2. Determine the domain for g(x). Write vour answer using both interval notation and set notation.
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Functions Practice Quiz Name
Calculator Portion
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3. Find (gef)(x). Determine whatis therange of (g f)(x)?
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Use the graph of &(x) for questions 5 — 8.

5. Give all relative extrema.

hx)

o) ‘x— it

6. Give all absolute extrema.
7. Give the intervals the function isdnereasing on.

8. Give the intervals the function is decreasing on.
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9. If r(x)= g.\' —5 , determine 7 (x).
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10. Find the average rate of change of f{lx) =3x?—4 fromx=1tox=8.
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11. Graph the following function and give the domain and range in interval notation
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g(x)=<2, -1<x<4

x—4, x>4
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Use the graph of function g given below to answer the following questions. Use interval notation.
Defend your answers.

et sl g® | (3)= 3

.b) Is g(-2) positive or negative?
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c) For what intervals is g(x) < 07?
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d) What is the domain of g?
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e) What is therange of g7

[-3,%0)

f) What are the x-intercepts of g? g) What ( the y-intercept of g?
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h) How often does theline y = -1 intersect 1) For what values of x does g(x) = 67?
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j) What are the local maxima? k) On which interval(s) is g decreas'mg'?
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2. Given the graph of f, draw the graph of the inverse

function, f-1. . é
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3. F@n verse of the functio @the functions are inverses, @state over what domain and
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The domain of f(x) is all real numbers except x = -1.
@ The range of f(x) is all real numbers except y = 2.
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The domain of f'(x) is all real numbers except x = 2.
The range of f'(x) is all real numbers except y =-1
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Wede this concluston:

Since f(f'(x))=f"(f(x))=x,
f(x) and f'(x) are inverse functions.
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Since f(f 1(x))=f (f(x))=x,
f(x) and f -'(x) are inverse functions.



